No. 7 of 2024.

Civil Aviation (Amendment No. 2) Act 2024.

Certified on: 2 0 NOV 2024



No. 7 of 2024.

Civil Aviation (Amendment No. 2) Act 2024.

ARRANGEMENT OF SECTIONS.

1. Service policies, charges, levies, fees and liens (Amendment of Part VII).

"Division 4. - Fees and Charges.".

2. Repeal and replacement of Section 101.

"101. FEES AND CHARGES.".

3. Repeal and replacement of Section 102.

"102. PAYMENT OF FEES AND CHARGES.".

4. New Schedules 4, 5 and 6.

"SCHEDULE 4.
SCHEDULE 5.
SCHEDULE 6.".

- (4) Different rates of fees and charges may be so prescribed or fixed in respect of different classes of persons, aeronautical products, aviation related services, air traffic services or aeronautical procedures, or on the basis of different times of use, or on any other differential basis.
 - (5) Schedules 4, 5 and 6 -
 - (a) specify the person by whom and to whom any fees or charges are payable; and
 - (b) specify penal or overtime or additional fees or charges or rates for work or services carried out outside normal working hours or at weekends or on statutory holidays; and
 - (c) specify additional charges for reimbursement of travelling time, accommodation and other expenses; and
 - (d) specifies returns to be made by person by whom any fees or charges are payable, and prescribed conditions relating to the making of such returns; and
 - (e) specify for the refund or waiver of any fee or charge in whole or in part, in any specified class or class of classes.
- (6) Fees and charges in respect of the use of any airport operated or managed by an airport authority shall not be prescribed, except where the National Executive Council has considered recommendations of the Minister given after consultation with the airport authority.".

3. REPEAL AND REPLACEMENT OF SECTION 102.

The Principal Act is amended by repealing Section 102 and replacing it with the following new section:

"102. PAYMENT OF FEES AND CHARGES.

- (1) Except as otherwise specified in Schedules 4, 5 and 6, application under this Act shall be accompanied by payment of the specified fees and charges.
 - (2) Schedules 4, 5 and 6 -
 - (a) specify the date by which any fees or charges is payable or authorised an aviation service provider to fix the date by which the fees or charges is payable; and
 - (b) provide the discount for early payment of any fees or charges or an additional fee for late payment, or both, on an equal basis to persons liable to pay the fees or charges."

4. NEW SCHEDULES 4, 5 AND 6.

The Principal Act is amended by inserting immediately after Schedule 3, the following new Schedules:

"SCHEDULE 4.

Sec. 101, 102 of Act.

PERSONAL LICENSING.

Personal licensing entails the fees associated with the grant, renewal and review of personal licensing in the aviation industry.

RULE REFERENCE	ACTIVITY	OUTCOME	NEW RATES EFFECTIVE 1.2.14
	PART 61 PILOT LICENSES	AND RATINGS	
	Flight Crew Licensing		PGK
	Student pilot licence	Grant	100.00
	Private pilot licence	Grant	300.00
	Commercial pilot licence	Grant	300.00
	Airline transport pilot licence	Grant	500.00
	Instrument rating issue	Grant	300.00
	Instrument rating renewal	Renewal	200.00
	Flight instructor rating	Grant	300.00
	Aircraft type rating	Grant	300.00
	Flight examiner rating	Grant	300.00
	Validation of foreign pilot licence - validation permit	Grant	300.00
	Verification of PNG Licence	Review	300.00
	Replacement of licence, certificate, or rating	Grant	300.00
	Amendment to face of document	Grant	300.00
	Issue of flight crew licence verification	Renewal	200.00
	Flight Testing		
	Airline transport pilot licence (aeroplane - issue flight test)	Grant	1,000.00
	Airline transport pilot licence (helicopter - issue flight test)	Grant	1,000.00
	Commercial pilot licence - flight test	Grant	1,000.00

	Instrument rating - issue flight test	Grant	1,000.00
	Instrument rating - annual flight	Grant	
	test		1,000.00
	Airline flight examiner rating -	Renewal	600,00
	issue and renewal test	Konewai	000.00
	General aviation flight examiner	Grant	1,000.00
	rating - issue		
	General aviation flight examiner	Review	600.00
	rating - renewal		
	Biennial flight review - flight test	Renewal	1,000.00
	Flight Instructor Rating - issue	G ,	
	flight test	Grant	1,000.00
	Flight Instructor Rating - renewal	D on owned	000.00
	flight test	Renewal	900.00
	Flight Crew competency - flight	Grant	1 000 00
· - · · · · · · · · · · · · · · · · · · ·	test	Grant	1,000.00
	Flight crew route and aerodrome	Grant	1,000,00
	proficiency test	Grant	1,000.00
	Private Pilot Licence		
	Each technical examination	Initial	300.00
	Each examination recount and	Review	200.00
	review	20012011	200.00
	Commercial Pilot Licence		
	Each technical examination	Initial	300.00
	Each examination recount and	Review	200.00
	review	<u> </u>	
	Airline Transport Pilot Licence	× 1	
	Each technical examination	Initial	300.00
	Each examination recount and	Review	200.00
	review		
	Instrument Rating Each technical examination	T. 141 1	
	Each examination recount and	Initial	300.00
	review	Review	200.00
	Chemical Rating		
	Each technical examination	Initial	200.00
	Each examination recount and	IIIIIIIII	300.00
	review	Review	200.00
	Basic Turbine Knowledge		
	Each technical examination	Initial	300.00
PART 65 A	IR TRAFFIC SERVICE PERSONA		D PATINGS
	Air traffic controller licence	Grant	300.00
	Air traffic controller licence + one	Grant	400.00
	initial rating		1 700.00
	Aeronautical station operator	Grant	300.00
	licence		500.00
	Aeronautical station operator	Grant	
			400.00

	Air traffic service instructor rating	Grant	300.00
	Aeronautical station operator		
	licence + one initial rating	Grant	400.00
	Air traffic controller rating	Review	200.00
	Air traffic service instructor rating	Grant	300.00
	Air traffic service instructor rating	Review	200.00
	Aeronautical station operator rating	Grant	300.00
· · · · · · · · · · · · · · · · · · ·	Aeronautical station operator rating	Review	200.00
	ATS technical examination	Initial	300.00
	ATS technical examination recount and review	Review	200.00
	Validation of PNG Licence	Review	300.00
	Verification of PNG Licence	Review	300.00
	IRCRAFT MAINTENANCE PERSON ATINGS. AME licence includes issue plus	Grant	300,00
	one category Initial Issue		
	AME licence - additional category	Grant	200.00
	AME licence - rating	Grant	200.00
	AMS licence - maintenance authority	Grant	300.00
	Certificate of inspection authorisation	Grant	300.00
	Exchange AME licence (old type to lifetime equivalent)	Grant	300.00
-	AME Licence - Examination		
	Each technical examination	Initial	300.00
	Each examination recount and review	Review	200.00
	Issue of AME licence verification	Review	200.00
	Air legislation (AA exam)	Initial	300.00
	ATS Licence examination	Initial	300.00
	ATS licence examination recount and review	Review	200.00
	Additional Category		
	Each technical examination	Initial	300.00
	Each examination recount and review	Review	200.00
	Additional rating	Initial	200.00
	Examination (written and oral)	Initial	300.00
	Examination recount and review	Review	200.00
	Maintenance Approval		200,00
	Transiculance Approvat		
	Examination recount and review	Review	200.00

PART 67 I	MEDICAL STANDARDS AND CERTI	FICATION.	ú
	Designated aviation medical examiner application - local	Grant	1,200.00
	Designated aviation medical examiner application - foreign	Grant	5,000.00
	Aviation medical assessor approval		
	Providing a medical manual issued by the Authority	Grant	500.00
e	Principal medical officer approval	Grant	600.00
	Aviation medical assessor approval	Grant	600.00
	Validate of foreign DAME	Review	300.00
	Validation of PNG DAME	Review	300.00

SCHEDULE 5.

Sec. 101, 102 of Act.

AIRCRAFT RELATED FEES AND CHARGES.

Aircraft registry charges entail monthly fees for the registration of aircrafts.

		RCRAFT RELA Formula	Old Hrly Rate	New Hrly Rate	Mhrs for Task	Minimum Charge
		T=I*M*E (refer handbook Section 5)	Per Inspector	Per Inspector	:	Advance Deposit
Rule reference	Activity	Outcome		Effect 1.2.14		PGK
]	PART 47 AI	RCRAFT REG	ISTRATIO		KING.	
	Aircraft registration	Aircraft registry search results per aircraft		300.00	1.00	300.00 per a/c
	Initial registration	Aircraft registry maintenance - initial issue or renewals		300.00	2.00	600.00
	Annual fee for maintenance of aircraft register	Aircraft registry fee - varies with aircraft weight		300.00		refer Schedule 3
	Change of registration	Aircraft registry maintenance		300.00	2.00	600.00
	Cancellation of PNG registration	Aircraft registry maintenance		300.00	1.00	300.00
	Change of ownership	Aircraft registry maintenance		300.00	1.00	300.00
	Allocation of particular registration mark	Aircraft registry maintenance		300.00	2.00	600.00

	PART 21 CER	TIFICATION	OF PROD	UCTS AND	PARTS.	43
	Type Acceptance	Grant				
	Certificate		150.00	300.00	16.67	5,000.00
	Approval of	Grant or	1			
	Technical Data -	amendments		300.00	4.00	1,200.00
	CAA Form 337					
	Application for	Grant or				
r _e	deviation from	amendments		300.00	4.00	1,200.00
	specifications					
	Design	Grant				
	certification of		150.00	300.00	4.00	1,200.00
, .	aircraft parts or					, , , , , , , , , ,
	equipment				ļ	
	Airworthiness	Grant or				
	certificate	amendments	150.00	300.00	4.00	1,200.00
	Export	Grant or				
	airworthiness	amendments	150.00	300.00	4.00	1,200.00
	certificate			.		7,200.00
	Airworthiness	Replacement				· ·
	certificate	or Re-issue	150.00	300.00	2.00	600.00
	Approval of	Grant				
	minimum		150.00	300.00		1,200.00
	equipment list					1,200.00
	Approval of flight	Grant				1
	manuals -		150.00	300.00		300.00
	Grant/Amendment		·			200.00
	(page approval)				İ	
	Approval of flight	Renewal				
	manuals or		100.00	200.00		300.00
	amendments					000.00
	Special flight	Grant,				
	permit (SFP)	renewal or	150.00	300.00	4.00	1,200.00
	1 , ,	amendment				1,200.00
	SFP Continuing	Grants or				
	Authorisation	amendments		300.00	4.00	1,200.00
	Approvals				,	1,200.00
	Special surveys to	Investigation	•			
	determine			300.00	6.67	2,000.00
	continued				0.07	2,000.00
	airworthiness of					
	aircraft					
	PART 39 AIRW	ORTHINESS	DIRECTIV	ÆS.		
	Acceptance of	Grant or			<u> </u>	
	State of Design	amendments		300.00	4.00	1,200.00
	AD alternative					1,200.00
	means of					
	compliance					

Pa	ART 91 GENERA	L OPERATING A	ND FLIGHT R	ULES.	
	Approval of	Grant			
	maintenance		300.00	4.00	1,200.00
	programme				
	Approval of	Amendment			
	maintenance		300.00	4.00	1,200.00
	programme				
	Approval of	Variations			
i de la companya de l	maintenance]	300.00	4.00	1,200.00
	programme				
	Approval of	Grant			
·	minimum		300.00	4.00	1,200.00
	equipment list				
	Approval of	Amendment			
	minimum		300.00	4.00	1,200.00
	equipment list				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Approval of	Variations			
	minimum		300.00	4.00	1,200.00
	equipment list		1		,
	Approval of flight	Grant			
	manuals -		300.00	4.00	1,200.00
	Grant/Amendment				
	(CASA page				
	approval)				
	Other Manuals	Review and			
		Approval	300.00	4.00	1,200.00
Certified					
Organisations					
PAI	RT 109 UNMANN	ED AIRCRAFT O	PERATOR CEI	RTIFICAT	ION AND
	OPERATIO				
	Regulated Air	Grant			
	Cargo Agent -		300.00	66.67	20,000.00
	local				
	Regulated Air	Grant			
	Cargo Agent -		300.00	133.34	40,000.00
	foreign				13,000.00
	Regulated Air	Renewal,		T .	
	Cargo Agent -	amendment	300.00	53.33	16,000.00
	local	&		1 20,00	10,000.00
		assessment			
		of manuals			
	Regulated Air	Renewal			
			1 222 22	1	1
	Cargo Agent -		300.00		1,200.00

		IONS. – CERTIFI	CATION			
	Air Operator Certificate - local	Grant	150.00	300.00	66.67	20,000.00
	Air Operator Certificate - local	Renewal, amendment and assessment of manuals		300.00	16.67	5,000.00
	Special Authorisation- ETOPS/EDTO, RVSM, RNP, DG, CAT, I/II/III, SEIF	Grant, amendment or monitoring		300.00	6.67	2,000.00
	Approval of Aircraft leasing (Wet & Dry Leases)	Each and every leased aircraft		300.00	6.67	2,000.00
PA	RT 129 FOREIGN AIR	OPERATOR - C	ERTIFIC	CATION.	·'	·
	Air Operator Certificate - foreign	Grant	150.00	300.00	133.33	40,000.00
	Air Operator Certificate - foreign	Renewal, amendment and assessment of manuals		300.00	16.67	5,000.00
	Instrument of Approval (IOA)					
PAF PAF	RT 121 AIR OPERATIO RT 125 AIR OPERATIO RT 135 AIR OPERATIO RT 136 AIR OPERATIO	ONS - MEDIUM A ONS - SMALL AE	EROPLA EROPLAI	ANES.		
PAF PAF	RT 125 AIR OPERATION RT 135 AIR OPERATION RT 136 AIR OPERATION Application for Training and/or Check	ONS - MEDIUM A ONS - SMALL AE	EROPLA EROPLAI	ANES.	4.00	1,200.00
PAF PAF	RT 125 AIR OPERATION RT 135 AIR OPERATION RT 136 AIR OPERATION Application for	ONS - MEDIUM A ONS - SMALL AE ONS HELICOPTI Initial issue or renewals	AEROPLAT ERS.	ANES. NES. 300.00		
PAF PAF	RT 125 AIR OPERATION RT 135 AIR OPERATION RT 136 AIR OPERATION Application for Training and/or Check and Training Approval	ONS - MEDIUM A ONS - SMALL AE ONS HELICOPTI Initial issue or renewals	AEROPLAT ERS.	ANES. NES. 300.00		
PAF PAF	RT 125 AIR OPERATION 135 AIR OPERATION 136	ONS - MEDIUM A ONS - SMALL AE ONS HELICOPTI Initial issue or renewals AINTENANCE OF Grant	AEROPLAT ERS.	ANES. NES. 300.00 ATION -	CERTIF	ICATION
PAF PAF	RT 125 AIR OPERATION 135 AIR OPERATION 136	ONS - MEDIUM A ONS - SMALL AE ONS HELICOPTI Initial issue or renewals AINTENANCE OF	AEROPLAT ERS.	300.00 ATION -	CERTIF 66.67	20,000.00
PAF PAF	RT 125 AIR OPERATION 135 AIR OPERATION 136	ONS - MEDIUM AONS - SMALL AEONS HELICOPTI Initial issue or renewals AINTENANCE OF Grant Renewal, amendment & assessment of manuals Renewal, amendment & assessment of manuals Renewal, amendment & assessment of	AEROPLAT ERS.	300.00 TION - 300.00	66.67 133.33	20,000.00 40,000.00
PAF PAF PAF	RT 125 AIR OPERATION RT 135 AIR OPERATION RT 136 AIR OPERATION Application for Training and/or Check and Training Approval RT 145 AIRCRAFT MA Maintenance Organisation Certificate - local Maintenance Organisation Certificate - foreign Maintenance Organisation Certificate - local Maintenance Organisation Certificate - local Maintenance Organisation Certificate Organisation Certificate	ONS - MEDIUM AONS - SMALL AEONS HELICOPTI Initial issue or renewals AINTENANCE OF Grant Renewal, amendment & assessment of manuals Renewal, amendment & assessment of manuals	REROPLATERS.	300.00 300.00 300.00 300.00	66.67 133.33 16.67	20,000.00 40,000.00 5,000.00

Aerodrome Operating Certificate	Renewal, amendment & assessment of manuals		300.00	4.00	1,200.00
PART 146 AIRCRAFT I	DESIGN ORGANI	SATION	S - CER	TIFICAT	ION
Design Organisation Certificate - local	Grant		300.00	53.3	3 16,000.00
Design Organisation Certificate - foreign	Grant		300.00	133.	
Design Organisation Certificate	Renewal or amendment & assessment of manuals		300.00	16.6	
PART 171 AERONAUT	ICAL TELECOM				
	TION - CERTIFIC	ATION	AND OP	ERATIO	N
Telecommunication Service Certificate	Grant		300.00	53.33	3 16,000.00
Aeronautical information service	Renewal, amendment & assessment of manuals		300.00	4.00	1,200.00
PART 176 SEARCH AN CERTIFICA	D RESCUE SERVION AND OPER		GANISA	TION -	
Search and Rescue Service Certificate	Grant		300.00	66.67	20,000.00
Search and Rescue Service Certificate	Renewal or amendment		300.00	4.00	1,200.00
PART 174 AVIATION I	METEOROLOGI TION AND OPER		RVICE O	RGANIS	ATION -
Meteorological service certificate	Grant	ATION	300.00	53.33	16,000.00
Meteorological service certificate	Renewal, amendment & assessment of manuals		300.00	4.00	1,200.00
PART 119 AIR OPERA PART 121 AIR OPERA PART 125 AIR OPERA	ΓIONS - LARGE .	AEROPI	LANES		
PART 135 AIR OPERAT PART 136 AIR OPERAT			LANES		
Flight simulator approval	Grant or renewal		300.00	16.67	5,000.00
 PART 141 AVIATION TO OPERATION		NISATI	ON - CE		
Aviation training organisation certificate	Grant		300.00	53.33	16,000.00

PART 173 INSTR - CER	RUMENT FLIG. FIFICATION A			ICE ORGA	ANISATIO
Air Navigation	Grant				
Service	Orune		300.00	133.33	40,000,0
Organisation			300.00	133.33	40,000.0
Certificate					
	D 1			-	
Air Navigation	Renewal,	,			
Service	amendment &		300.00	16.67	5,000.00
Organisation	assessment of	·			
Service	manuals				
PART 144 SUPPL	Y ORGANISA	ΓΙΟΝS – CER	TIFICATIO	ON.	
Supply Organisation	Grant				
Certificate - local			300.00	66.67	20,000.0
Supply Organisation	Grant			100.07	20,000.0
Certificate - foreign	Gran		300.00	133.33	40,000,0
	Renewal or		300.00	133.33	40,000.0
Supply Organisation		1	200.00		1.000.00
Certificate	amendment		300.00		1,200.00
PART 148		T			<u> </u>
Manufacturing	Grant	1			
Organisation			1,000.00		20,000.0
Certificate - local			Į		
Manufacturing	Grant				
Organisation			1,000.00		40,000.0
Certificate - foreign			1,000.00		70,000.0
Manufacturing Manufacturing	Renewal,				
			200.00	1.00	1.000.00
Organisation	amendment &	i	300.00	4.00	1,200.00
Certificate	assessment of		i		
	manuals		L		
		LLANEOUS			
CA Act S.79	Exemptions	Investigation			
	from rules			300.00	66.67
PART 157 NOTIC	E OF CONSTR	UCTION, AL	TERATION	N. ACTIVA	TION.
	EACTIVATION			.,	
Aerodrome	Investigation				
determinations			300.00	6.67	2,000.00
Notice of	Issue of		200.00	0.07	4,000.00
Construction,	Aerodrome		300.00	66 67	20,000.00
-	Determination		300,00	66.67	20,000.00
Alteration,	Determination				
Activation, & De-	İ				
activation of		•		1	
Aerodromes			·		
(Aeronautical					
Study)					
PART 183 AUTHO	RISED REPRI	ESENTATIVE	S	<u> </u>	
Application for	Grant				T
Authorisation under			300.00	6.67	2.000.00
CAR Part 183			500.00	0.07	2,000.00
	D 1			<u> </u>	
Application for	Renewal,	-			
Authorisation under	amendment or		300.00	6.67	2,000.00
CAR Part 183	monitoring			1	i i

	Authorised	Issue of				
	Representatives	Instrument of Authorisation	300.00	6.67	2,000.00	300.00
	Authorised	Renewal				
	Representatives		300.00			300.00
All Urgent	Applications	Grant, renewal		-		
Applications	received less	or amendments				20,000.00
	than 10 working					,
	days from date					
	of operation					
	PART 119 AIR	OPERATIONS -	CERTIF	ICATIO	V	
	PART 121 AIR	OPERATIONS -	LARGE	AEROPI	ANES	
	PART 125 AIR	OPERATIONS -	MEDIU:	M AERO	PLANES	
	PART 135 AIR	OPERATIONS -	SMALL	AEROPI	LANES	
	PART 136 AIR	OPERATIONS -	HELICO	PTERS		
	Determination	Special				
	for other	Projects		300.00	66.67	20,000.00
	Operational	(Schedule of				1
	Approvals/autho	Events)				
	risations					
Civil	All FPP	Each and every		300.00	1.67	500.00
Aviation Act	Interviews (fit &	interview				
S.49(3)	proper person					
	interview)					
Note						
,				<u> </u>		
All advance						
payments are						
non-						
refundable		<u>"</u>				
Subject to 10% GST &						
CASA PNG						
Administratio						
n Fee of 10%	<u> </u>			l	<u></u>	1

SCHEDULE 6.

Sec. 101, 102 of Act.

AIRCRAFT RELATED FEES AND CHARGES.

Aircraft Related Charges entails fees and charges associated with security of the civil aviation industry. The "Advance Deposit" is the "Initial Application Fee" for the respective permit, certification or approval sought.

AIRCRAFT REGISTRY CHARGES	NEW RATES EFFECTIVE 1.2.14
Weight Categories	PGK
FWA - < 4,500 kg	100.00
FWA - > 4,500 to 6,500 kg	300.00
FWA - > 6,500 to 18,000 kg	2,000.00
FWA - > 18,000 kg	4,000.00
RWA – up to 4,500 kg	50.00
RWA - < 4,501 to 6,500 kg	100.00
RWA - > 6,500 kg	200.00

I hereby certify that the above is a fair print of the Civil Aviation (Amendment No. 2) Act 2024 which has been made by the National Parliament.

Clerk of the National Parliament.

2 0 NOV 2024

I hereby certify that the *Civil Aviation (Amendment No. 2) Act* 2024 was made by the National Parliament on 4 September 2024.

Speaker of the National Parliament.